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o2 Loyde (elods sumuw 1Y oojle Jd=d

_E

_E

AL

3l

AL?
31
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12
6L

-12
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-1
0

(A29l) oy G IS yuusti (38,8 85 43 (o9 LB Laslg

g OB (i il

(Jade 1al) Slogl B 0uls 23Lol 9,4 4l 9 (Fidw G sile

FA,

FS, -

2L

0
FA

FS. +

e

FM, —

FM,

2

3FM,

3FM,

(Jade gsl) shgl B s 230l 9 48 )05 9 (o iyl
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2
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o -2 o o
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0 0 -1 L
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o A o o
3l
0o 0 1 -L
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: ]
o -2 g o
3l
L 0 -10
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2
o A o o
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L 0 10
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o2 Loyde (elods sumuw 1Y oojle Jd=d

(Juado g 99) shigl 53 0 230l 9555 4185 9 (o ilo

EA 4 o _EA 4 FA,
L L FS FM, FM,
0O 00 O 00O b L
‘o 0 00 O 00O . 0
_% ° % 00 FT\’/T\e FM
b e
0 00 0 00 FSe+ =+
| 0 00 0 0 0] i 0 |
yae Job 43 i Juado b jlagl OB gide gy 00 23o] (S uyilo
ALS+L°) . _A(L13+L23) .
I(L+L,) (L +L,)
0 3 3L 0 -3 3L
k= El 0 3L 37 0 -3L 3LL,
LP+L° | AL +L) . AL +L7) .
(L +L,) (L +L,)
0 -3 3L 0 3 3L
0 3L, 3LL, 0 -3L, 3L/
yac Job 43 ies Juada b ol OB gée gly s 23Lol 9, oy
FAbl n Lz(FAbz + FAe1 — th)
L+L,
2FS, L’ -3FM L’ -3FM,, L, +2FS L’ +2FS,L,’+2FS L’ -2F L,
2(L*+L))
2FM, L’ +2FM L’ —FM_L’+2FM L, -3FM L L +2FS,L L’ +2FS L L’ -2F LL’
.I:f_ 2(L13+L23)
FAe2 4 Ll(FAbz + FAe1 — th)
L+L,

2FM,, L’ -FM, L, +2FM L’ +2FM L, —3FM_L"L, - 2FS

3FM_ L +3FM_L*+2FS L’ +2FS L’+2FS L’ +2FS L’ -2 F, L’
2(L°+L))

b2 L13 L2

-2FS,_L°L, +2 F, L L,

2(L°+L))




o2 Loyde (elods sumuw 1Y oojle Jd=d

[ AEC’ 12EIs® AEcs 12Elcs 6Els | AEc’® 12Els® 12Elcs AEcs  6Els |
+ — — T — p— — —
L N L N T L L L L
12E1c® AEs’ 6Elc: 12Elcs AEcs 12Elc? AEs’  6Elc
+ H — — _
Ny L [ [y L L L L’
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+ —
L L L
4E|
L L
Ecs(121-AL%) | 6Els
03 0, =0, =03 O ~0y A= L® e L2
0, 0, O5 O, ~0; Og E(AL282+12|C2)5 6ElC
O, = VO =
-0 (o o o -0, O 2 3 1 Us 2
K = 4 5 6 4 5 7 L f L
_0_3 O_l 0-4 0_3 _O_l 0-4 E(AL2C2+12|52) : 4E|
o, -0, -0 -0, O, —0: 03 = E ;Ues:_l_
-0, 05 o0, O, —05 O | ; 2EI
Mo
FA,c—FS,s
FS,c+FA,s
Ff: FMb
FA,c-FS,s
FS.c+FA,s
. FM, ]
St SiN(0) oo S g COS(0) s € YL dayl, 4o
uhae&fuba&&.c)ayécubbégxﬁ:
[ F, | [ F,C+F,S]
FYb FYbC_FXbS
(e) (¢ (¢ M (¢) M
F=KxA+Fj=| | = f= &
Fee F.C+F,.S
FYe I:YeC_FXeS
_MZe_ L MZe




o2 Loyde (elods sumuw 1Y oojle Jd=d
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12E|
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o2 Loyde (elods sumuw 1Y oojle Jd=d

(prdlinnne gy b9 BEAST by Jlosl) Glideo (539 30 B 53188,b was LB

125 k-ft 1.5 k/ft 5B Gro b oo solo (lis LB 4o
il
YV Vv by ¥ bbb eslho gy gladS s )
| 05 5 fSo el (e ()
BeSS Josddl puSe (st (0
10 ft
90 k . . . .
l gac ;o 51 595 s (2
E =29000ksi
10 ft A:11.8in2
| =310in*
| 10 ft 20 ft
1ol asy> g JlEs) wlsyo g Lacl g Lmo)§6)|3§b)w
5 (; 40 4“:) ZOBT L")l?)&
Y 6 9 (q ‘A ‘V ‘Y' £Y 4\) 'J«.«.Q.A C)l?)b
i
@ ® ) e iy 5 Uil wlays
$ (O F YD)
¥ gac sy g Sl wlsgo
0 QALY SE DK
| —#—
\ﬁ/ 3
2
G cowd
cs 2 c? S C L gl oS Janl oS | gae
04 0.8 0.2 0.8944 0.4472 268.3282 2 1 1
0 0 1 0 1 240 3 2 2

(G oS yus il (ow) LB slaJgo,d il oolaiwl b Iy gae 5950 Jlap 9 it Luayilo loll yo sly




o2 Loyde (elods sumuw 1Y oojle Jd=d

V-1
U.lSubam)é Yac (S Uu_\))Lo

[ 250528  507.888  —670.075 | -259.528 -507.888  —670.075]
507.888 1021360  335.038 | -507.888 —1021.360  335.038
~670.075 335038 134015.007 i 670.075 -335.038 67007.504
259528 -507.888  670.075: 259528  507.888  670.075
507.888 -1021.360 335038 | 507.888 1021.360  —335.038
-670.075 335038 67007.504 | 670.075 -335.038 134015.007 |

e
I

d9d 43S sl ) guae 59, W =90k (g5,
t e 50 (g 90 9 iy gl 1)

W, =90sin (0) =90(0.89443) = 80.4984k
W, =90cos(6) =90(0.44721) = 40.2492k

Wlwo cpz 43 99,0 W, g W, aSIiTj) saiss
weode b 93y (olply 2udbo Glow so7e
siie ] g, wlhuslno 3l catto
el

Slade (Y g 1) Ll g lal 0,5 51 g, dliold tdzsei
Sabse | =1, =134.1641in

R (G - ol ™
| L
FA = WTI2 80.4984 x134.1641
FA = FA, = 022202072 40,2492k
A Wi, 268.3282
L




o2 Loyde (elods sumuw 1Y oojle Jd=d

: Glow wlaiso ;o W 51 sl (Member End Forces) ) gae (gl slog s

|
M, l M,
b ( @ @ ) e

A

FS, FS,
s, - W |22(33|1 +1,)
L
L W |12|22 FS, =_20.1246'k
L FM, =1350k-in
s _ WI2(1,+31,) FS, = 20.1246k
e~ 13 FM, =-1350k-in
2
FM, = —W—I'_lz L
:&9@0%@))9@99)¢3Jbﬁ
- _ FA,c—FS,s - _
40.2492 FoceFs 0
20.1246 | ' racps,s 45
| 1350 R c_| 1350
@ 1 40.2492 @) 0
20.1246 45
| 1350 | | -1350 |
Y e
S wlaizw 0 gac i (myile
[ 1425.833  0.000 0.000 | —1425.833 0.000 0.000]
0.000  7.804 936.458 : 0.000 -7.804 936.458
(f<) B 0.000 936.458 149833.333 0.000 -936.458 74916.667
| -1425.833  0.000 0.000 : 1425.833 0.000 0.000
0.000 -7.804  -936.458 | 0.000 7.804  —936.458
| 0.000 936.458 74916.667 ! 0.000 -936.458 149833.333

gac UJLQ.»‘ le.:bg),é 3] W E) &)|9 o codle b ..L.ubu.n U.lzn)gm | E9 g o W ctflzuU LSO

D950




o2 Loyde (elods sumuw 1Y oojle Jd=d

o wlaisw o 83,8 b 5l 5ol (Member End Forces) ¥ gace (olgs! slag o

A |

|— h —’l w

|

|

” EEEERER ”
CA@ @T>

FS, FS,
w(L-21) w(l®-1%) w(l*-1*) L5
FS, = =+ - w==2=0.125k/in
2 E Ik 1 /
—_— w(L? —6I12)+ w(2|13—|23)_w(|14 -1,") l,=1,=0
° 12 3L 412
w(L-21,) w(l*-1°) w(l'-L*) FS, =15k
P ===t FM, = 600k-in
FS, =15k
w(l®-61,7) w(l’-21°) w(l'-1") ; _
FM, = - + - . FM, = —600k-in
12 3L 41
:&Sgwum)ayé.Cg)@)bﬁ
[ 0] [ 0]
15 15
(1 _| 600f | 600
@~ o7 @T| g
15 15
| 600 | | 600 |
s (Joowsl) 55138 0 (595
:o)’L.u S u.«.u).:Lo
K=
[ 259528  507.888 —670.0755 -259.528 -507.888 —670.0755 0.000 0.000 0.000 |
507.888 1021.360 335.038% -507.888 -1021.360 335.038% 0.000 0.000 0.000
-670.075  335.038 134015.007; 670.075 —-335.038 67007.504; 0.000 0.000 0.000
—259.528 -507.888 670.075% 1685.361  507.888 670.075%—1425.833 0.000 0.000

-507.888 —1021.360 —335.0385 507.888 1029.164 601.4215 0.000 -7.804 936.458
—670.075  335.038 67007.5045 670.075  601.421 283848.3415 0.000 -936.458 74916.667

0000 0000  00001-1425833 0000  0.000! 1425833 0000  0.000
0000 0000 0000 0000 -7.804 -936.458: 0000  7.804 -936.458
0000 0000 0000 0000 936458 74916.667|  0.000 —936.458 149833.333 |




o2 Loyde (elods sumuw 1Y oojle Jd=d

105lw 40 Lac) 595 IS 51 53b g9, slop

0

45
1350
P'=| 60
~750

15
| 600 |

(S99 Sel) puilivnn (g5 o (BEASS bylyss Jlos!
FfFinaI — K . XAf — Af — K;fl XFfFinaI
Af=K;xﬁﬁ—aﬂ{stAQ)

FFinaI
f
wl).mo Ao (492 {og)L\S KfS XA, é)l.a fog)l.ﬁ Cndnd 45l>uT)| oo
1685.361 507.888 670.075 0 0 0
Ky =| 507.888 1029.164 601.421|, P, = 0 = 0o |, Pff = 60
670.075 601.421 283848.341 -125%x12 -1500 —750
0 0 0
Ff™ =/ 0 |-| 60|=| 60

-1500 | |-750 —750

1

1685.361 507.888 670.075| 0 0.021301in
= A, =| 507.888 1029.164 601.421| x| —60 |=|-0.067322in
670.075 601.421 283848.341 —750 —0.002550 rad

22,1 392 8 ol (sl alitne gl bs, 08 Jo Jas w¥slee slfiws il lrdle dulxe @l 14z s
ok wYsle slKiws J=

sl 0 ol el 08, 0 (gl 5 leslono

ield 5 @9 dolso ¥

1685.36132A,, +507.88806A,, +670.075046,, =0 — (1)
507.88806A,, +1029.16389A,, +601.420816,, = 60 — (2)
670.07504A,, + 601.42081A,, +283848.340786,, = 750 — (3)

Yo



o2 Loyde (elods sumuw 1Y oojle Jd=d

(Gauss Elimination Back Substitution) g8 84> o9, 4 ks wYsle s&iws J=
1o Yoleo U.w.s)_)ta [o)é

1685.36132  507.88806 670.07504 0
507.88806 1029.16389 601.42081 | —60
670.07504 601.42081 283848.34078 | —750

R, « R, —0.30135x R,

1685.36132 507.88806 670.07504 0
0 876.11049 399.49194 | 60
670.07504 601.42081 283848.34078 | —750

R, < R, —0.39759x R,

1685.36132 507.88806 670.07504 0
0 876.11049 399.49194 | 60
0 399.49194 283581.92874 | —750

R, < R, —0.45598xR,

1685.36132 507.88806  670.07504 0
0 876.11049 399.49194 —60
0 0 283399.767 | —722.64099

:AS|0MT)J 33y W50 wYoleo

1685.36132A,, +507.88806A,, +670.075046,, =0 — (1)
876.11049A,, +399.491946,, = —60 — (2)
283399.7676,, = —722.64099 — (3)

;oyls (backward substitution) g, e sl 8sle 5l ealaiwl b
(YY) dolo

6, =229 _ 4 00255

= —
2 283399.767
(V) doleo

= 876.1104947,, + 399.49194(-0.00255) = —-60 = 876.11049A,, =—58.98134

__ 5898134 _ oo,

2y " 876.11049

A



o2 Loyde (elods sumuw 1Y oojle Jd=d

:()) doleo

= 1685.36132A,, +507.88806(—0.06732)+ 670.07504(—0.00255) = 0
=1685.36132A,, =35.90056

35.90056

p = 20,0213
1685.36132

1030 Cwwddy wYga=o

A, =0.0213,A,, =-0.06732 and 6,, =—0.00255

\Y



o2 Loyde (elods sumuw 1Y oojle Jd=d

(Gauss Jordan) ;9,52 (weS yi9y 4 k> wYsles slliws Jo

1685.36132 507.88806  670.07504 | 0
507.88806 1029.16389  601.42081 | —60
670.07504  601.42081 283848.34078 | 750
R « R, +1685.36132
1 0.30135 039759 | 0
—|507.88806 1029.16389  601.42081| —60
670.07504  601.42081 283848.34078 | —750
R, « R, —507.88806x R,
1 0.30135 039759 | 0
= 0 876.11049  399.49194 | —60

670.07504 601.42081 283848.34078 | —750
R, < R, —670.07504x R,

1 0.30135 0.39759 0
=|0 876.11049 399.49194 | —-60
0 399.49194 283581.92873 | —750

R, « R, +876.11049

1 0.30135 0.39759 0
=10 1 0.45598 | —0.06848
0 399.49194 283581.92873 ~750
R « R —0.30135xR,
1 0 0.26017 | 0.02064
=10 1 0.45598 | —0.06848
0 399.49194 283581.92873 ~750

R, < R, —399.49194xR,

10 0.26017 0.02064
=0 1 0.45598 —0.06848
0 0 283399.767 | —722.64099

1o Yoleo U.«».!)JLQ [o)é

AN



o2 Loyde (elods sumuw 1Y oojle Jd=d

R, « R, +283399.767

1 0 0.26017 | 0.02064
=0 1 0.45598 | -0.06848
0 O 1| -0.00255

R « R —0.26017xR,

10 0 0.0213
=0 1 0.45598 | —0.06848
00 1| -0.00255

R, « R, —0.45598x R,

100 0.0213
=0 1 0] -0.06732
0 0 1|-0.00255

1030l ddy wYgamo

A, =0.0213,A, =-0.06732 and 6, =—-0.00255

V¥



o2 Loyde (elods sumuw 1Y oojle Jd=d

(Cholesky) Sudgz sugy 4 ks> wislee sBiws Jo

1685.361 507.888 670.075 0 A,,
A=| 507.888 1029.164 601.421|, B=| -60 |, X = 2y
670.075 601.421 283848.341 —750 6,,
Ax=B .
T =LL x=8B
A=L-L

l,, = Ja, =+/1685.36 = 41.0531

a, 507.89

27, 41.0531

=12.3715

Ly =3y — 15, =1/1029.16—(12.3715)" = 102916 —153.0547 = 29.5991

L=l 01008 j6am0g
l, 41.0531
Tl L 601.42(16.3223)%(12.3715)  601.42-201.9313 _ 13.4967
* L, 29.5991 29.5991 '
Ly, = 3, — 15, — 12, =1[283848.34 — (16.3223)° —(13.4967)° =532.353
l, O 07 [41.0531 0 0

L=, 1, 0 |=/12.3715 295991 0
l, 1, l.| |16.3223 13.4967 532.353

HEC SFRY Ly=B L),.,\QLTx:y

41.05314 0 0 Y, 0
12.37153 29.59908 0 x|y, |=| —60
16.32226 13.49666 532.35304 | |V, —750

;oyls (forward substitution) g e ISl 5l eolaswl b
(V) doleo
41.05314y, =0=1y, =0

(V) dolso

'O



o2 Loyde (elods sumuw 1Y oojle Jd=d

12.37153y, +29.59908y, = —60 = 12.37153(0) + 29.59908y, = —60

60

-——— =-2.02709
29.59908

=>Y,=
(7)) dolso

16.32226y, +13.49666Y, + 532.35304y, = —750
= 16.32226(0)+13.49666(—2.0271) +532.35304y, = —750
= —27.35895+532.35304y, = —750 = 532.35304y, = —722.64105

Ly o 1264105
532.35304
Mua QLWBLTX=y J=
41.05314 12.37153 16.32226 A,, 0
0 29.59908 13.49666 |x|A,, |=|-2.02709
0 0 53235304 |6, | |-1.35745

1oy (Dackward substitution) g, u g NS> 5l eslaiwl b

() doleo
532.353046,, = —1.35745 = 0, ————21%°__ 4 0055
532.35304
(V) dolso
29.59908A,, +13.496666,, = —2.02709
= 29.59908A,, +13.49666(—0.00255) = —2.02709
= 29.59908A,, —0.03442 = -2.02709 = 29.59908A,,, = —1.99268
e o
29.59908
(YY) dolso

41.05314A,, +12.37153A,, +16.322266,, = 0

= 41.05314A,, +12.37153(~0.06732) +16.32226(~0.00255) = 0
= 41.05314A,, —0.8745 = 0 = 41.05314x = 0.8745

0.8745

yy = — > =0.0213
41.05314

:oMTdeg uy%z.o

A, =0.0213,A, =-0.06732 and 6, =—-0.00255

\&



o2 Loyde (elods sumuw 1Y oojle Jd=d

LU o9, 4 e wYslae s o
1685.361 507.888 670.075 0 A,,
A=| 507.888 1029.164 601.421|, B=| -60 |, X =|A,,
670.075 601.421 283848.341 —750 6,,
Ax=B
= LUx=8B
A=LU

ey U ) ugS (B3> G 5l eolinl |

1685.36132 507.88806 670.07504
U= 0 876.11049 399.49194
0 0 283399.767

:'og)léfuo SO dae OT ul.ol)bs S99 Cuwl s Al 'oga)So&Lé.lwl u»gfu.g» Uv9y 30 Gwl);o)l)» L

1 0 0
L =|0.30135 1 0
0.39759 0.45598 1

tdd o Ly=B LuUx=y

1 0 o] [y, 0
0.3013526 1 0lx|y, |=| —60
0.3975854 0.4559835 1| |y, | |-750

1oyl (forward substitution) g yive o 88 sl 3 eolasl b

:()) doleo
y,=0

(V) doleo
0.3013526y, +y, =—60 =y, =60

(V) dolso

0.3975854y, +0.4559835Y, + y, = —750
= 0.3975854(0) +0.4559835(—60) + y, = —750
=y, =—722.64099

ZMSUAQMBUX:}/ J=

Y



o2 Loyde (elods sumuw 1Y oojle Jd=d

1685.36132 507.88806 670.07504 | | A,, 0
0 876.11049 399.49194 |x| A,, |= —60
0 0 283399.767| |6, —722.64099

o2y (Dackward substitution) g, u g NS> 5l eslaiwl b

:()) doleo
0, = 1220409 _ 4 55055
283399.767
(V) dolso
876.110494,, +399.491946,, =60
= A,, =-0.06732
(V) dolso

1685.36132A,, +507.88806A,, +670.075046,, =0
= A, =0.0213

:oJ.oTwodg u})g@.%o

A, =0.0213,A, =-0.06732 and 6,, =—-0.00255

YA



o2 Loyde (elods sumuw 1Y oojle Jd=d

(k+1) _

2X

(k+1) _

2y

(k+1) _

2z

A(l)

2X

A(l)

2y

9(1) _

2z

A(Z) _

2x

A® —

2y

(2)

2z

A(3) —

2Xx

() _

2y

(3) _

2z

(4) _

2X

A(4) _

2y —

6)(4) _

2z

(Gauss Seidel) Juslw oS o9, 4 ke wYsle s&iws J=
iwYoleo suwgizb

! (0-507.88806A%; - 670.075046)" )

~ 1685.36132
= ;(—60 ~507.88806A};" ~ 601420814 )
1029.16389
;(—750 ~670.07504A% " — 601420814, |
283848.34078
(el y00 33 WYgam0 dod glyp ddgl (was) ¥ y,ds
—[o 507.88806(0) - 670.07504(0) | =0
1685.36132
;[—GO ~507.88806(0) - 601.42081(0) | = —0.0583
1029.16389
= ;[—750 —670.07504(0) — 601.42081(~0.0583) | = —0.00252
283848.34078
1V oyl
I [ 0-507.88806(—0.0583) — 670.07504(—0.00252) | = 0.01857
1685.36132
;[—60 —507.88806(0.01857 ) — 601.42081(~0.00252) | = —0.06599
1029.16389
S [ 750 - 670.07504(0.01857) — 601.42081(—0.06599) | = —0.00255
283848.34078
: Vgl
N [ 0-507.88806 (—0.06599) — 670.07504 (-0.00255) | = 0.0209
1685.36132
—[ —60 —507.88806 (0.0209) — 601.42081(-0.00255) | = —0.06713
1029.16389
= ;[—750 —670.07504(0.0209) — 601.42081(~0.06713) | = —0.00255
283848.34078
0 ¥ Coss
—[o 507.88806(—0.06713) — 670.07504(—0.00255) | = 0.02124
1685.36132
;[—60 —507.88806(0.02124) — 601.42081(—0.00255) | = —0.06729
1029.16389
= ;[—750 — 670.07504(0.02124) - 601.42081(—0.06729) | = —0.00255
283848.34078

A, =0.02124,A, =-0.06729 and 6,, = -0.00255

4



o2 Loyde (elods sumuw 1Y oojle Jd=d

(Gauss Jacobi) 15515 weS vy, 4 hd wYsleoe sliws J=
iwYoleo suwgizb
Al -1 (o 507.88806A)) —670.075040% )
2X - 22
1685.36132

AL :;( 60—507.88806A ) —601.420816." )
1029.16389

92(5*”:;( 750 - 670.07504A) — 601.42081A%) )
283848.34078

(] y00 33 WYgamo dad gl ddgl (was) ¥ y,ds

1
AY) = ——=—[0-507.88806(0) - 670.07504(0) | =0
* 1685.36132 [ (©) (0)]
1
AY) = ——=——[-60-507.88806(0) - 601.42081(0) | = —0.0583
¥ 1029.16389 [ (©) ()]
o) = ;[—750 —670.07504(0) — 601.42081(0) ] = —0.00264
283848.34078
) QUPEIV:3
NS —[0 507.88806(—0.0583) — 670.07504(—0.00264) | = 0.01862
1685.36132
A = —[ —~60 —507.88806(0) — 601.42081(~0.00264) | = —0.05676
1029.16389
o) = ;[—750 —670.07504(0) — 601.42081(—0.0583) | = —0.00252
283848.34078
: ¥ yds
AY) = ;[o —507.88806(—0.05676) — 670.07504(—0.00252) | = 0.0181
1685.36132
AY) = ;[—eo —507.88806(0.01862) — 601.42081(—~0.00252) | = —0.06602
1029.16389
o0 = ;[—750 — 670.07504(0.01862) — 601.42081(—0.05676) | = —0.00257
283848.34078
0 FCo,ss
A = ;[o —507.88806(~0.06602) — 670.07504 (~0.00257) | = 0.02091
1685.36132
AY) = ;[—GO —507.88806 (0.0181) — 601.42081(~0.00257 ) | = —0.06573
1029.16389
o) = ;[—750 —670.07504(0.0181) — 601.42081(~0.06602 ) | = —0.00255

283848.34078

Yo



o2 Loyde (elods sumuw 1Y oojle Jd=d

A(S)

2X

AB) —

2y

9(5) _

2z

A(G) _

2X

(6) _

2y

(6) _

2z

10 Coyds

[ 0-507.88806(—0.06573) — 670.07504(—0.00255) | = 0.02082

1685. 36132
_t [ -60—507.88806(0.02091) — 601.42081(—0.00255) | = —0.06713
1029.16389
= ;[—750 — 670.07504(0.02091) - 601.42081(—0.06573) | = —0.00255
283848.34078
g EPERY-i
= ;[o —507.88806(-0.06713) - 670.07504(—0.00255)] =0.02125
1685.36132
—[ —60 —507.88806(0.02082) — 601.42081(—0.00255) | = —0.06708
1029.16389
= ;[—750 — 670.07504(0.02082) — 601.42081(-0.06713) | = —0.00255
283848.34078

icw] Caolio WYggm0 gl 15 oydl & doye ddzgil

A,, =0.02125,A, =-0.06708 and 6,, = —0.00255

|



o2 Loyde (elods sumuw 1Y oojle Jd=d

O Cound
(59 Soh) edins by, 3l eolaiwl b (o84S sloJas)l juSe duslono
P, :(st XA )+(KSs XAS)+PSf

wl)w Al (9= f»,g)|é3 KSS XAS L 6)Ld [ag)bj ol 45l>uT)| :4?93

[ 259528 -507.888 —670.075] 0] [ 30.372k
~507.888 ~1021.360  335.038| [ .. 45| | 102.087k
670.075 —335.038 67007.504| | 1350 | | 1215.966k-in

P = x| —0.067322 | |+ E
~1425.833 0.000 0.000 0| | -30.372k
~0.002550
0.000  -7.804 —-936.458 15 17.913k
| 0000  936.458 74916.667 | | —600| | -854.074k-in |
y 1,500 k-in.
0.125 k/in. -
AERBRERRERE 3047k
-2
@ @ 854.07 k-in.
90 k
17913 k
30.371 k—+— X
X1i'/1,216k-in.
102.09 k

2 Caouad

Juad gzl 4 sads dily) slodgesd 3 oolizul b o g IS wlaiie 4o gac Sl glog,s dulxo gl

:[og)‘\)
[ F, | [ F,C+F,S]
FYb FYbC_ FXbS
) (o) (e) M (e) M
F=KxA+F = | = f= ®
© | F, F.C+F,,S
FYe FYeC_ FXeS
_MZe_ L MZe

vy



o2 Loyde (elods sumuw 1Y oojle Jd=d

[ 250528  507.888  —670.075 259528  -507.888  —670.075 | 0 0
507.888  1021.360 335.038 -507.888 —1021.360 335.038 0 45
(Fl)z -670.075 335038 134015007  670.075  -335.038  67007.504 y 0 N 1350
-259528  -507.888 670.075 259528  507.888 670.075 0.021301 0
-507.888 -1021.360  -335.038  507.888  1021.360  -335.038 | | —0.067322 45
| -670.075 335.038 67007504  670.075  -335.038 134015007 ] | —0.002550 |) | -1350 |
30.372 [ 104.892
102.087 18.489
() 1215.966 @) 1215.966
F= =f=
-30.372 —24.394
-12.087 21.760
| —1654.896 | —1654.896 |
[ 0.021301]) [ O] [ 30.372]
—-0.067322 15 12.087
2 (@ {(2)} —-0.002550 600 154.896
F=f=||K|x + =
0 0 -30.372
0 15 17.913
| 0|) |-600| |-854.074 |
y
I
| 0.125 K/in.
03k ¥ ¥ ¥ Y v b v vy b NIk
154.9 k\er 1@ @ T §5/4.o7 k-in.

12.087 k 17913 k

Ty



o8 Losele coelons damas Y bnojles Jolons

SAP2000 v20.2 g,l2 1331 05 b 25 duntlile

by S e o5l
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1oy phSho
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LI |
:
Y
£
oleo ehSL>
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o2 Loyde (elods sumuw 1Y oojle Jd=d

é -
oS ol 4 l> 2ol
£ Joint Displacements
File View Edit Format-Filter-Sort Select  Options
Units: As Noted Joint Displacements v
Fitter:
Joint OutputCase CaseType u1 u2 u3 R1 R2 R3
Text Text in in in Radians Radians Radians
» DEAD LinStatic 0 0 0 0 0 0
2 DEAD LinStatic 0.021301 -0.06732 0 0 0 -0.00255
3 DEAD LinStatic 0 0 0 0 0 0

Record: 1 of3 | AddTables.. [ Done ]

ipac ;i el gleg s s

£ Element Forces - Frames

File View Edit Format-Filter-Sort Select  Options
Units: As Noted Element Forces - Frames v
Filter:
Frame Station OutputCase CaseType P V2 Vi T M2 M3
Text in Text Kip Kip Kip Kip-in Kip-in Kip-in
b—— 0 DEAD LinStatic -104.892 0 18.489 1] 1215.966 0
1 268.328 DEAD LinStatic -24.394 0 -21.76 0 1654.896 0
0 DEAD LinStatic -30.372 0 12.087 0 154.896 0
240 DEAD LinStatic -20.272 '] -17.912 0 854,074 ]
< >
Record: 1 of4 AddTables.. [Toone |

¥4 Joint Reactions

File View Edit Format-Filter-Sort Select  Options

Units: As Noted Joint Reactions v
Fitter:

Joint OutputCase CaseType F1 F2 F3 M1 M2 M3

Text Kip Kip Kip Kip-in Kip-in Kip-in
DEAD LinStatic 30.372 102.087 0 0 1215.966
17.913

LinStatic

1[5 > o2 AddTables.. [ Done |

YO



o2 Loyde (elods sumuw 1Y oojle Jd=d

(F1SY il yogy 4 PEASS bulyds Jlosl) kizo (529 5 o (631385b i L

oles Jlae! $18Y alys gy 3l oolizl b JolS 1ob a3 1y Jb dlis 10 284S5 byl

K =
[ 259528  507.888 —670.075 -259.528 -507.888 —670.075 0.000  0.000 0.000 |

507.888 1021.360  335.038 -507.888 —1021.360  335.038 0.000  0.000 0.000
-670.075  335.038 134015.007  670.075 -335.038 67007.504 0.000  0.000 0.000
-250.528 -507.888  670.075 1685361 507.888  670.075 —1425.833  0.000 0.000

-507.888 -1021.360 —-335.038 507.888 1029.164 601.421 0.000 -7.804 936.458
—670.075  335.038 67007.504 670.075  601.421 283848.341 0.000 -936.458 74916.667

0.000 0.000 0.000 -1425.833 0.000 0.000 1425.833 0.000 0.000
0.000 0.000 0.000 0.000 —7.804  -936.458 0.000 7.804 -936.458
0.000 0.000 0.000 0.000  936.458 74916.667 0.000 -936.458 149833.333 |

(q s/\ ‘V c‘ﬂ cY ‘\) ZJuJLO L_)L’>)J
=0, 6,=0, A, =0, A, =0, 6,=0

(5 Lol 19) S 4L (g g s sl @Yolso olass @

} = FLM = KLM XALM = ALM = Klj\L/l X FLM

K =
2595 5079 -670.1 -2595 -507.9 -670.1 0 0 0100000
507.9 10214 335.0 -507.9 -1021.4 335.0 0 0 OEO 10000
-670.1  335.0 1340150 670.1 -335.0 67007.5 0 0 O;O 01000
-259.5 -507.9 670.1 16854  507.9 670.1 -1425.8 0 OéO 00000
-507.9 -1021.4 -335.0 5079 1029.2 601.4 0o -78 936.550 00000
-670.1 3350 670075 670.1 6014 283848.3 0 -936.5 74916.7;0 000O00O
0 0 0 -1425.8 0 0 14258 0 OEO 00100
0 0 0 0 -7.8 9365 0 7.8 —936.5%0 00010
0 0 0 0 9365 74916.7 0 -936.5 149833.3;0 00001
0 1 0 0 0 0 0 0 050 000O0DO
0 0 1 0 0 0 0 0 OEO 000O00O
0 0 0 0 0 0 1 0 OEO 000O00O
0 0 0 0 0 0 0 1 O;O 000O00O
|0 0 0 0 0 0 0 0 11000000

\tg



o2 Loyde (elods sumuw 1Y oojle Jd=d

30,18 so0 ol gz Fiy 1oy 50 sl Jogzme 956 Jlade Sl jo 1dzgs

0 0.0
45 0.0
~1350 0.0

0 0.021301

60 ~0.067322

750 ~0.002550
0 0.0
Fu=| -15, Ay =KixF, = 0.0
600 0.0

0 - -30.372252

0 ~102.086758

0 ~1215.966452

0 30.372252

0 ~17.913242

0] | 854.074049

BEALSS slbJosll uSe

.a)gT Cawd D |) 930 )L))g u}@e.%o O|93(3° sa0] s ddy U,gl.'?clgl?)laﬁ )'| ooleiwl b J

P=(KxA)+P'

[ 2595 5079 -670.1 -2595 -507.9 —670.1 00 00 00| [ o\ [ o] [ 30.372]
507.9 1021.4 3350 -507.9 —-1021.4  335.0 00 00 0.0 0 45 102.087
—670.1  335.0 1340150 670.1 -335.0 67007.5 00 00 0.0 0 1350 1215.966
—2505 -507.9  670.1 16854 507.9  670.1 —14258 0.0 0.0 0.0213 0 0
-507.9 -1021.4 3350 507.9 1029.2  601.4 00 -78 9365 |x| -00673 | |+| 60|= 0
—670.1 3350 670075 670.1 601.4 2838483 0.0 —936.5 74916.7 -0.0025 —750 —1500

0.0 0.0 0.0 —1425.8 0.0 00 14258 0.0 0.0 0 0 —30372
0.0 0.0 0.0 00 -78 -9365 00 78 -9365 0 15 17.913
0.0 0.0 0.0 00 9365 74916.7 0.0 -936.5 149833.3 0]/ [-600 | |—854.074 ]

\A%



o2 Loyde (elods sumuw 1Y oojle Jd=d

(Condensation 13T wl>ys 0S1,5) lidne (599 3 5,138, b s LB

wloys @S5 gy 5l eolaiwl b 00, SB35 4o (internal) Gigys wlzs |y loisye SIS dbuwo B 1o
Seled dwle |y o lzgle

Je
QA Y XY D) (S) ado wlzys & O F)(f) o)y wlsys
() (1) Goy0 wlzpo (B F): (8) Gom wlzyo
[1685.361  507.888 670.075 0
K, =| 507.888 1029.164 601.421| F™ =| -60
| 670.075  601.421 283848.341 ~750

1685.361  507.888]  _[670.075 o_| 0
® | 507.888 1029.164 “ | 601.421 © | -60
[670.075  601.421] K, =[283848.341] P, =[-750]

A~
[

K=K, -K,K'K,

el Nii

. 1685361 507.888 670.075 1
Ke = - X| —— x[670.075 601.421] =
507.888 1029.164 601.421| | 283848.341

. {1683.779 506.468}

ee

~| 506.468 1027.890

P* =P — K, K.'P,

ein il i

. [o 670.075 1 1.7705
P¥ = - x| = |x[-750] | =
60| || 601.421| | 283848.341 ~58.4109

Pf =KExA, = A, =K xP*

e

R 1683.779 506.468 " 1.7705 0.021301 .
= X =
® | 506.468 1027.890 -58.4109 | |-0.067322
Ai = Kuil(Pl - KieAe)
1 0.021301
A, =| =——=———|[-750]-| [670.075 601.421]x =-0.002550rad
283848.341 ~0.067322
0.021301
A:{-i}: -0.067322
' -0.002550

YA



o2 Loyde (elods sumuw 1Y oojle Jd=d

(ooy GBS pusti (58S 25 0 b) ilidno (599 3 s (5,198, b i GB

O9loy pd 9 JS Gldatno Lacl ghatio 048 ()8 igd Jloel (i (b, 4 (BB4SS bl (izan
el 0.3

>

IS i 3 (o GloSE 3t 3 1) S (slodass 31 oslizul LIy e (st ubo olall o sl
sl 8 siiled wbluswo yile .‘og)gTun Cawd dy

f,=1.2 Sle 4 .ol K:g Uit 2ol s el JS Slibine Liael ghaiio paws 4Tl tdogd

E

G= =11153.846154
2(1+v)
_12EIf,
* T AGL?
:UJSuLa;C’m)o ya.: u..aw w}ila
) 940.::

(2)
Bs =0.013661017

[ 250468  507.918  —661.044 | -250.468 -507.918  —661.044]
507.918 1021.345  330.522 | -507.918 -1021.345  330.522
-661.044 330522 132660.426 : 661.044 -330.522 65652.923
—259.468 -507.918 661044 | 259.468  507.918 661044
507.918 -1021.345 —330.522 | 507.918 1021.345  —330.522

|-661.044 330522 65652.923 | 661.044 —330.522 132660.426

AE
I

(2)
Bs =0.017076271

[ 1425.833 0.000 0.000 | —1425.833 0.000 0.000 |
0.000 7.673 920.736 0.000 —7.673 920.736

@ | 0000 82073 147946606 0000 920736 7302939
—-1425.833 0.000 0.000 : 1425.833 0.000 0.000
0.000 -7.673 —920.736 0.000 7.673  -920.736

i 0.000 920.736  73029.939 0.000 -920.736 147946.606

T4



o2 Loyde (elods sumuw 1Y oojle Jd=d

K =
[ 259.468

507.918
—661.044
~250.468
-507.918
—661.044

0.000
0.000

1685.301 507.918 661.044 0
Ky =| 507.918 1029.018 590.213 ], F,=| —60
661.044 590.213 280607.032 —750
1685.301 507.918 661.0441" 0 0.021309
Ap =| 507.918 1029.018 590.213| x| —60 |=|-0.067346
661.044 590.213 280607.032 —750 —0.002581
SAP2000 v20.2 g,k 138 9 b 24 duuslie
:)I)’élto).")b ulSoba.ow 9 U.Lza 6Lm)9;>m u...uLo.a 9 o)'L» dA.o
2 2 . 3
Y
X

0000

507.918
1021.345
330.522

~ -507.918

-1021.345
330,522
0,000
0.000
0.000

~661.044 |
330522
132660.426 |
o604
330,522 |
65652.923'

0,000

0.000 :
0.000 ;

-250.468 —507.918
-507.918 ~1021.345
661.044 -330.522
1685301  507.918
507.918 1029.018
661.044 590213

1-1425833 0000

0000  -7.673
0000 920736

s s wyile g 138 59,

-661.044!  0.000  0.000 0.000 |
330.522§ 0.000  0.000 0.000
656529231  0.000  0.000 0.000
" e6L044|-1425833 0000 0000
590.213) 0000 -7.673  920.736
280607.0322 0.000 -920.736 73029.939
0000 1425833 0000 0.00
9207361 0000  7.673 -920.736
73029.939§ 0.000 —920.736 147946.606 |
6550 balys Jloc!

ANV YD ‘q.usu_o d»@l&)b)b‘ugwuw)lb)w@lsobbow m;;bp 4

Yo
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o2 Loyde (elods sumuw 1Y oojle Jd=d

:Lmb)fu,;l.? CY) l.> C.gl.o

¥4 Joint Displ

File View Edit Format-Filter-Sort Select  Options
Units: As Noted Joint Displacements v
Fitter:
Joint OutputCase CaseType u1 u2 u3 R1 R2 R3
Text Text in in in Radians Radians Radians
» DEAD LinStatic 0 0 0 0 0 0
2 DEAD LinStatic 0021309  -0.067344 0 0 0| -0.002581
3 DEAD LinStatic 0 0 0 0 0 0

Record: 1 of3 | AddTables.. | Done |

ipac ;i el gleg s s

£4 Element F

File View Edit Format-Filter-Sort Select  Options
Units: As Noted Element Forces - Frames ~
Fiter:
Frame Station OutputCase CaseType P V2 V3 T M2 M3 FrameElem ElemStation
Text in Text Kip Kip Kip Kip-in Kip-in Kip-in Text
> 0 DEAD LinStatic -104.915 0 18.488 0 1216.874 0 141 0
268.328 DEAD LinStatic -24.416 0 -21.761 0 1656.094 0 11 268.328
2 0 DEAD LinStatic -30.383 0 12.107 0 156.094 0 241 0
2 240 DEAD LinStatic -30.383 0 -17.893 0 850.522 0 24 240
Record: 1 [5][ > |ore | Add Tables... | Done

D8 4S5 Jasll juSe s

¥4 Joint Reactions

File View Edit Format-Filter-Sort Select  Options

Units: As Noted Joint Reactions v
Fitter:

Joint OutputCase CaseType F1 F2 F3 M1 M2 M3

Text Kip Kip Kip Kip-in Kip-in Kip-in
DEAD LinStatic 30.383 102.107 0 0 1216.874
17.893 -850.522

LinStatic

Record: 1 of2 AddTables.. [ one ]

vy



o8 Losele coelons damas Y bnojles Jolons

035508 (5,1383l sl i1y B

10,8 10 HlSe s (pasts cawl Liglhao oo s3ls s B o

500 mm

6m

d

W/NM T

70°C

E =200GPa
A =600mm?*
I =60(10°)mm*

a=25x10" %(,

®
6m
HER [o:«.{bl9:> 3 LSLmt.JSA)S )‘ oolaiwel b uLo.”).tb 6‘))
cos@ sin@ 0 0 0 0
—sin® cosfé 0 0 0 0
0 0 1 0 0 0
0 0 0 cos® sin® 0
0 0 0 —siné cosd® 0
0 0 0 0 0 1]
[ AL? AL? ]
—_— 0 0 —— 0 0
I I
0 12 6L 0 —12 6L
ET 0 6L 472 0 —6L 212
73 | AL’ AL?
_ 0 0 —_— 0 0
1 !
—12 —6L 0 12 —6L
6L 2L° 0 —6L 472

vy



o2 Loyde (elods sumuw 1Y oojle Jd=d

L =% = %)% + (¥, — ¥,)’

Cos() = 2 Sin(g) =2 e [ Ya
) 9ae (siduw Luyile
[ 20000.00 0.00 0.00 -20000.00 0.00 0.00]
0.00 666.67 2000.00 0.00 -666.67 2000.00
K0 — 0.00 2000.00 8000.00 0.00 -2000.00 4000.00
" | =20000.00 0.00 0.00  20000.00 0.00 0.00
0.00 -666.67 —2000.00 0.00 666.67 —2000.00
i 0.00 2000.00 4000.00 0.00 —2000.00  8000.00
L=6
Cos(0) =1 Sin(8) =0
10 0 0 0 O]
010000
TO_ 001000
000100
000O0T10
0000 0 1]
[ 20000.00 0.00 0.00 -20000.00 0.00 0.00]]
0.00 666.67 2000.00 0.00 -666.67 2000.00
. " 0.00 2000.00 8000.00 0.00 -2000.00  4000.00
T xkxT =K =
—20000.00 0.00 0.00  20000.00 0.00 0.00
0.00 -666.67 —2000.00 0.00 666.67 —2000.00
i 0.00 2000.00 4000.00 0.00 —2000.00  8000.00 |
[ 20000.00 0.00 0.00 -20000.00 0.00 0.00]
0.00 666.67 2000.00 0.00 -666.67 2000.00
K _ 0.00 2000.00 8000.00 0.00 -2000.00 4000.00
" | =20000.00 0.00 0.00  20000.00 0.00 0.00
0.00 -666.67 —2000.00 0.00  666.67 —2000.00
i 0.00 2000.00 4000.00 0.00 -2000.00  8000.00 |
L=6
Cos(#)=0 Sin(@d)=-1

¥



o2 Loyde (elods sumuw 1Y oojle Jd=d

010000
100000
t@_[00 1000
0000 -10
000100
0000 0 1

[ 666.67 0.00  2000.00

0.00  20000.00 0.00

kT - (@ | 200000 0.00  8000.00

~666.67 0.00 —-2000.00

0.00 -20000.00 0.00

| 2000.00 0.00  4000.00

[ 20000.00 0.00 0.00 -20000.00 0.00

0.00 666.67 2000.00 0.00 -666.67

0.00  2000.00 8000.00 0.00 -2000.00

-20000.00 0.00 0.00 20666.67 0.00

K= 0.00 -666.67 —2000.00 0.00 20666.67 + 20

0.00  2000.00 4000.00 2000.00 -2000.00

0.00 0.00 0.00 -666.67 0.00

0.00 0.00 0.00 0.00 -20000.00

L 0.00 0.00 0.00 2000.00 0.00

[ 20000.00 0.00 0.00 —20000.00 0.00

0.00 666.67  2000.00 0.00 —-666.67

0.00 2000.00  8000.00 0.00  -2000.00

-20000.00 0.00 0.00  20666.67 0.00

K= 0.00 -666.67 —2000.00 0.00  20686.67

0.00 2000.00  4000.00 2000.00  -2000.00

0.00 0.00 0.00 -666.67 0.00

0.00 0.00 0.00 0.00 -20000.00

0.00 0.00 0.00 2000.00 0.00

FAp = —FA. = FAx T,

—666.67 0.00 2000.00 |
0.00 -20000.00 0.00
—2000.00 0.00 4000.00
666.67 0.00 -2000.00
0.00 20000.00 0.00
—2000.00 0.00 8000.00
58 s 530 o s Guayile 35S el
0.00 0.00 0.00 0.00 |
2000.00 0.00 0.00 0.00
4000.00 0.00 0.00 0.00
200000  -666.67 0.00  2000.00
~2000.00 0.00  —20000.00 0.00
16000.00 —2000.00 0.00 4000.00
—2000.00 666.67 0.00 -2000.00
0.00 0.00 20000.00 0.00
4000.00  —2000.00 0.00  8000.00 |
0.00 0.00 0.00 0.00 |
2000.00 0.00 0.00 0.00
4000.00 0.00 0.00 0.00
2000.00  —666.67 0.00  2000.00
~2000.00 0.00 —20000.00 0.00
16000.00 —2000.00 0.00  4000.00
—2000.00  666.67 0.00 —2000.00
0.00 0.00  20000.00 0.00
4000.00 —2000.00 0.00  8000.00 |

ipac 50 gl F ol

L s
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ipas gl o Jas wylym s

T+ T
FAb:FAezEAa( bt ‘)

oo

FM, = —FM, = Ela (E’ E‘)

d
135 135
. . L[20+70
FA = —FA =200x10° x 600x10" x 2.5x10 ( )_135 0 0
2
. 30 T'xfa) . 30

FS, = FS, =0 - f, = —O 5F) =

-135 -135

6 6 12 5 70-20
FM, = —FM, = 200x10° x 60x10° x10™ x 25x10 ( ):30 0 0
0.5
-30 -30

: ¥V gac

gac Job 15 w&leiSh wl> rajes

150 0
6 -6 -5 0 _150
FA, =-FA =200x10°x600x10"° x2.5x10”° (50) =150 0 . 0
FS, =FS, =0 — f = —E R =
-150 0
FM, =FM, =0
0 150
0 0
oSOk @ 03518 b Jaas =
- 0 —6
e 6 0
FA,=FA, =0
FS,=FS, = ENPTI b SN
2 3 (2) 0 (2) -6
FM, =—FM, = -6
‘ —6 0
e 6 6

\g
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(P Llo g 99,97 cawd ds g Fjlag 40,5 Jeow]

135 135
0 0
30 30
-135-6| |-141
-150 ¢=1{-150
-30-6 -36
-6 -6
150 150
6 6
ol8iws Jo gl s 9,90 wledbl savges
~141 5
P =1-150 & P =10
-36 0
[20666.67 0.00  2000.00
Ky = 0.00 20686.67 —2000.00
| 2000.00 -2000.00 16000.00

1

20666.67 0.00 2000.00]" (146
{A}= 0.00 20686.67 —2000.00| x150
2000.00 —2000.00 16000.00 36
0.0068391m
{A;}=1{ 0.0074763m
0.0023297 rad

AR



o8 Losele coelons damas Y bnojles Jolons

ANSYS V16 gl 13800, b zulis duulie

05k Joo
ELEMENTS lkr‘f;‘{!;
4
3 MEY 14 2015
02-4B:1€
13 1 1 2
ERES-NORM
[
FrameZD 1

D45 JoslluSe gl

File

|
PRINT REACTION SOLUTIONS PER HODE
wowxxx POST1 TOTAL REACTION SOLUTION LISTING e

LOAD STEP= A SUBSTEP= 1
TIME= 1.80880 LOAD CASE= a

THE FOLLOWING X.Y.Z SOLUTIONS ARE IN THE GLOBAL COORDINATE SYSTEM

NODE Fi FY¥ FZ MZ
1 —-1.7813 -A.324488 #.6806808 24.366
3 -15.219 A.47441 A.680680 28.997
4 A.8888 -8.14953 #.88688 A.8888

TOTAL UALUES
UALUE —-1'7.488 A.20539E-14 0.080008 53.363

acdly JS S o5l
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DISFLACEMENT AN SYS
4
T =1 . R16.0
TIME=1 |
DMK =.010133 MEY 14 2015
1 2 0Z:48:23
1
ERES-HCRM
[
£ H =5
FrameZD 1

imQSLﬁE?QL?ayti

N PRNSOL Command
File

PRINT U HODAL SOLUTION PER NODE
s POST1 NODAL DEGHREE OF FREEDOM LISTING sessexx

LOAD STEP= 8@ SUBSTEP= 1
TIME= 1.680680 LOAD CASE= a

THE FOLLOWING DEGREE OF FREEDOM RESULTS ARE IN THE GLOBAL
COORDIMATE SYSTEM

NODE H] uy Uz USUM
1 A.8088 A.8888 A.888a A.8088
2 B.68371E-82 A.74763E-62 @.680080 A.10133E-A1
3 A.8088 A.88688 A.8088a A.8088
4 f.086808 A.8684 8.08884 B .B8808
MARIMUM ABSOLUTE UALUES
NODE 2 2 A 2
UALUE A.68391E-A2 A.74763E-02 A.86080 A.18133F-A1

9
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File

PRINT ROT HNODAL SOLUTION PER NODE
= POST1 NHODAL DEGREE OF FREEDOM LISTING sexwex

LOAD STEP= A SUBSTEP= 1
TIME= 1.80808 LOAD CASE= a

THE FOLLOWING DEGREE OF FREEDOM RESULTS ARE IN THE GLOBAL
COORDIMATE SYSTEM

NODE ROTZ
1 A.80080
2 8.23297VE-82
3 A.8880
4 A.88688

MAXIMUM ABSOLUTE UALUES
HODE 2
UALUE A.23297E-B82

ipae ;b Gl glog s auls

File

I
PRINT ELEMENT TABLE ITEMS PER ELEMENT
sk POST1 ELEMENT TABLE LISTING =
STAT CURRENT CURRENT CURRENT CURRENT CURRENT CURRENT

ELEM SMIS1 SMIS2 SMIS6 SMIS? SMISE SMIS12
1 1.7813 B.32488 —24.366 1.7813 8.32488 —-26.315

2 —8A.47441 -3.218%7 —-26.315 -8.47441 -15.21% 28.997
3 —8.14953 8.88848 6.8880 4.8888 d.86888 d.086886

MINIMUM UALUES
ELEM 2
UALUE -8.47441

MAXIMUM UALUES
ELEM

1 1 3 1 1 2
UALUE 1.7813 A.32488 A.8008 A.32488 28.997
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S § yly> 1L G

o 83ls (L Jas oyl o ) gace el 83,5 Cunis sk YO ojlailay Vs, S saws sols ol Ll8 4o

) 0,5 30 ()50 S (e (&)
| o m @l S84S5 Josll uSe (st (0
— g4 50 GIE1 (59,8 e (2

[1]

o 10°C

J 6m
d =600

on a= 1.2(107)/°C
E, A, I = constant

l E =200 GPa

70°C A= 7.610 mm?

Temperature Variation [/ = 216(10°) mm*

l©

E = 200 Gpa = 200x10° K%z

A=7610mm? =7610x10°m?
| =216x10° mm* =216x10"° m*

G cownd

HEWR [q:..m|9;> 3 LSL‘bt.J9‘°)9 )l oolaiel b ULo.”).tb 6‘)"

cos® sind 0 0 0 0
—sin® cosé 0 0 0 0
T — 0 0 1 0 0 0
- 0 0 0 cos® sinf 0
0 0 0 —siné cos® 0
i 0 0 0 0 0 1 |
[ ALZ AL% ]
— 0 0o —— 0 0
! !
0 12 6L 0 —12 6L
y Fl 0 6L 472 0 —6L 212
— 73 AL? AL?
- v v = 00
0 —12 =61 0 12 —6L
0 6L 2L°% 0 —6L 412

)
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L =% = %)7 + (Y, — Ya)’

Cos(g) = 22— Sin(6) :LLya
) gde S uyile
[169111.111  0.000 0.000 -169111.111 0.000 0.000
0.000 711.111 3200.000 0.000 —711.111  3200.000
K 0.000 3200.000 19200.000 0.000 —3200.000 9600.000
| -169111.111 0.000 0.000 169111.111  0.000 0.000
0.000 —711.111 -3200.000 0.000 711.111 —3200.000
10.000 3200.000 9600.000 0.000 -3200.000 19200.000 |
L=9
Cos(d) =1 Sin(@)=0
1 0 0 0 0 O]
01 00O00O0
;w_[00 1000
000100
0 00010O0
00000 1]
[169111.111  0.000 0.000 -169111.111 0.000 0.000 |
0.000 711.111  3200.000  0.000 ~711.111  3200.000
. v | 0.000 3200.000 19200.000 0.000 —3200.000 9600.000
T xkxT =K"Y =
-169111.111 0.000 0.000 169111.111  0.000 0.000
0.000 ~711.111 -3200.000 0.000 711111 —3200.000
| 0.000 3200.000 9600.000  0.000 ~3200.000 19200.000 |
:Vg;éz.c w2 U“")"LO
253666.667  0.000 0.000 —253666.667 0.000 0.000
0.000 2400.000  7200.000  0.000 —2400.000 7200.000
K2 _ 0.000 7200.000  28800.000 0.000 —7200.000 14400.000
| —253666.667 0.000 0.000 253666.667  0.000 0.000
0.000 —2400.000 -7200.000 0.000 2400.000 —7200.000
1 0.000 7200.000  14400.000 0.000 —7200.000 28800.000 |
L=6
Cos(0) =0 Sin(f) =-1
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[0 -1 0 0 0 0]
1 0 00 OO
T2 _ 0 010 0O
0 000 -10
0 001 0O
0 0 00 0 1
[2400.000  0.000 7200.000 -2400.000 0.000 7200.000 |
0.000 253666.667  0.000 0.000 —253666.667 0.000
T kT = K@ — 7200.000 0.000 28800.000 —7200.000 0.000 14400.000
—2400.000 0.000 —7200.000 2400.000 0.000 —7200.000
0.000 —253666.667 0.000 0.000 253666.667  0.000
| 7200.000  0.000 14400.000 —7200.000 0.000 28800.000 |
it puyile 33,5 Jrow!
[169111.111 0.000 0.000 -169111.111  0.000 0.000 0.000 0.000 0.000
0.000 711.111 3200.000 0.000 -711.111 3200.000 0.000 0.000 0.000
0.000 3200.000  19200.000 0.000 —3200.000 9600.000 0.000 0.000 0.000
-169111.111  0.000 0.000 171511.111 0.000 7200.000 —2400.000  0.000 7200.000
K = 0.000 —-711.111  -3200.000  0.000 254377.778 —3200.000  0.000 —253666.667  0.000
0.000 3200.000  9600.000 7200.000 —3200.000 48000.000  —7200.000  0.000 14400.000
0.000 0.000 0.000 —2400.000 0.000 —7200.000  2400.000 0.000 —7200.000
0.000 0.000 0.000 0.000 —253666.667  0.000 0.000 253666.667 0.000
| 0.000 0.000 0.000 7200.000 0.000 14400.000 —7200.000  0.000 28800.000 _|
) giae sly gy Slop
730.56 730.56
FA =—FA =200x10" x 761010 x1.2x10" ( 010 ) = 73056 0.00 0.00
o s o 2 R f(l) _ 51.84 T'de) F(lf) _ 51.84
~730.56 ~730.56
FM =-FM_ =200x10"x216x10" x10" ><1.2><105(70_10)=51.84 0.00 0.00
" -51.84 -51.84
152 GBS s ())8] s @
—730.56 0
Pff =4 0.00 P, =40
-51.84 0
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0.0000
0.0000
A, = 0.0000
0.0000
—0.0025
0.0000
[171511.111 0.000 7200.000
K, =|0.000 254377.778 —3200.000
| 7200.000  —3200.000  48000.000
[-169111.111 0.000 0.000 —2400.000 0.000 7200.000
K, =10.000 —711.111 -3200.000 0.000 —253666.667 0.000
1 0.000 3200.000 9600.000 —7200.000 0.000 14400.000
P, :(Kﬁ><Af)+(KfS><AS)—|—Pff
0.000
K xA, =46341.667
0.000
171511.111 0.000 7200.000 1" (730.5600 0.0043112m
{Af}: 0.000 254377.778 —3200.000 | x<-6341.6667 ; =< —0.0249456 m
7200.000  -3200.000 48000.000 51.8400 —0.0012297 rad

FE
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‘e .

B4SS JosdlpuSe (19,97 caws

730.5600
0.0000
o _)51.8400
* "~ 10.0000
0.0000
0.0000
[~169111.111 0.000 0.000
0.000 ~711.111  3200.000
< _|0:000 ~3200.000  9600.000
7| -2400.000  0.000 ~7200.000
0.000 —253666.667 0.000
7200000 0.000 14400.000 |
[169111.111 0.000  0.000 0.000 0.000 0.000
0.000 711.111  3200.000  0.000 0.000 0.000
« _|0000 3200.000 19200.000 0.000 0.000 0.000
*10.000 0.000  0.000 2400.000  0.000 ~7200.000
0.000 0.000  0.000 0.000 253666.667 0.000
0.000 0.000  0.000 ~7200.000 0.000 28800.000

P =(Kq fo)+(KSS><AS)+ P

—729.0671 0.0000
13.8040 0.0000
K. xA, = 68.0206 2 K. %A, = 0.0000
-1.4929 0.0000
6327.8627 —6341.6667
13.3325 0.0000
1.4929
13.8040
b 119.8606
*|-1.4929
—-13.8040
13.3325
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FO = K® « A®
(&) _ (1) (e) f
FO=(TOXF®)+ fo

O O O o o+

0.00000
0.00000
0.00000
0.0043112
—0.0249456
—-0.0012297

o O O O+ O
o O O r» O O
o O, O O O
o B O O O O

—729.0671
13.804
68.02
729.0671
-13.804
56.2153

—729.0671
13.804
68.02
729.0671
-13.804
56.2153

730.56
0.00
51.84
—730.56
0.00
-51.84

1.4929
13.804
119.86
-1.4929
-13.804
4.3753
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:Lmo)fu,gl.? CY) l.> C.gl.c

File View  Format-Filter-5ort  Select  Options

Unitz: A=z Noted Joint Displacements

Joint  QutputCaze CaseType U1 R1 R2 R3
Text Text m Radians HRadians Radians

DEAD LinStatic 0 0
DEAD LinStatic 0 0
DEAD LinStatic 0.004311 0.00123

File  View  Format-Filter-5ert  Select  Options

Units: As Noted Element Forces - Frames

Frame Station OutputCase CaseType
Text m Text

DEAD LinStatic

:

DEAD LinStatic

DEAD LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LinStatic

LT T B B T T B T R R N N X
olo|lolo ol |lolele|le o ole|lalealele o|lo|lo|lel|le
olo|lolo ol |lolele|le o ole|lalealele o|lo|lo|lel|le

LinStatic

cecors oz
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File

Unitz: As Noted

View

Format-Filter-5ort  Select

D 4S5 Jasll juSe b

Joint Reactions

Record:

Joint

QutputCase

CaseType
Text

LinStatic

LinStatic

ANSYS V16 L2 1330 05 b 2l duntlile

05l Jao
" ELEMENTS ANSYS
ELEM WM R16.0
T MAY 14 2015
ROT 21 1 2 opz-gz:z0
MAST i 1
2
£_® 3
P
FrameZ

Qo
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DB 4S5 Josdl LuSe ks

File

PRINT REACTION SOLUTIONS PER MHODE
= POST1 TOTAL REACTION SOLUTION LISTING #wexsx

LOAD STEP= 1 SUBSTEFP= 1
TIME= 1.68048 LOAD CASE= a

THE FOLLOWING H.Y.Z SOLUTIONS ARE INM THE GLOBAL
COORDINATE SYSTEM

NODE FX FY MZ
1 1.4929 13.8084 119.86
3 -1.4929 -13.8084 13.333

TOTAL UALUES
UALUE -B.21316E-13-B.77982E-12 133.19

oS il @ > 2l

File

I
PRINT U NODAL SOLUTION PER NODE
e POST1 MODAL DEGREE OF FREEDOM LISTING sesessse

LOAD STEP= 1 SUBSTEP= 1
TIME= 1.8800 LOAD CASE= a

THE FOLLOWING DEGREE OF FREEDOM RESULTS ARE IN THE GLOBAL
COORDINATE SYSTEM

NODE h uy Uz UsuM
1 8.8840 #.8880 A.a88a H.8688
2 0.43112E-82-A.24%46E-01 0.0800 A.25315E-91
3 A.8Aa0 -A.250AEE-A1 0.A80A A.25000E-B1

MAXIMUM ABSOLUTE UVALUES

NODE 2 3 a 2
UALUE A.43112FE-A2-A.25AAAE-A1 ©A.880A A.25315E-81

File

PRINT ROT MNODAL SOLUTION PER NODE
e POST1 NODAL DEGREE OF FREEDOM LISTING seestses

LOAD STEP= 1 SUBSTEP= 1
TIME= 1.8688 LOAD CASE= a

THE FOLLOWING DEGREE OF FREEDOM RESULTS ARE IN THE GLOBAL
GOORDINATE SYSTEM

NODE ROTZ
1 a.000a
2 0.12297E-82
3 A.0800a
MAXIMUM ABSOLUTE UALUES
NODE 2

UALUE -8.12297E-82

o)
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by S et o5l

DISPLACEMENT
3TEPF=1

auE =1

TIME=]1

DeD{ =_025315

1
T

MA3T

FrameZ

ANSYS

R16.0
MAY 14 2015
03:42:48
2
.
2
B

File

19 o GBS log s gl

PRINT ELEMENT TABLE ITEMS PER ELEMENT
wxwxx POST1 ELEMENT TABLE LISTING s

STAT CURRENT
ELEM SMIS1

1 -1.4929

2 12.884

MINIMUM URLUES
ELEM 1
-1.492%

UALUE
MAXIMUM UALUES

ELEM 2
UALUE 13.8684

CURRENT

SMIS2
-13.884
-1.492%

CURRENT
SMISe
-117.86
4.375%3

i 1
-13.884 -119.86

2
-1.492%

CURRENT
SMIS?Y
-1.492%9
12.884

1
—-1.4929

-13.884
-1.492%

1
-13.884

CURRENT
SMISS

CURRENT

SMIS12
4.3/%3
12.333

1
4.3753

QY
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ML’U’“’ - C W 2500 sage @ ‘Q)Lﬁﬁ )l oalawl pae [0 9
2000 kN G970 Sl S yus 5l 5 Guo b 2l

1000 kN l 1000 kN e
A "5 T Gl GUSD s 5l S Bpo b i
: DL o9 GBS 15 185 5 0 b 12
@ - oS 9 4y

4 g olSe Lacl adS ghio wlasw

rewl 99, w90

30cm

2y ogwle copd 9 dawawdl Joae
40cm
b el

E=200GPa
v=0.3

b=40/100 h=30/100
_ bxh’

A=bxh=0.12m’ I B =0.0009m*
G= E__ 76923076.923076...

2(1+v)
f,=1.2

sin® | cosd | gae Job | Ll o3 | lawl 63 | guae
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010000 100000
100000 010000 1000
T(1)2001000 T(2)2001000 P:o
000010 000100 ' 0
000 -100 000010 ~1000
0 00 0 0 1 0 0000 1
[ 8000000 0 0 -8000000 0 0]
0 77579.519 116369.279 0 -77579.519 116369.279
KD _ @ _ 0 116369.279 234553.918 0 -116369.279 114553.918
—-8000000 0 0 8000000 0 0
0 -77579.519 -116369.279 0 77579.519 -116369.279
i 0 116369.279 114553.918 0 -116369.279 234553.918 |
KO ZT'Oxk®«TO —
[ 77579.51901 0 -116369.2785 -77579.51901 0 -116369.2785 |
0 8000000 0 0 -8000000 0
(@ _| 1163692785 0  234553.918 116369.2785 0  114553.918
—77579.51901 0 116369.2785  77579.51901 0 116369.2785
0 -8000000 0 0 8000000 0
| —116369.2785 0 114553.918 116369.2785 0 234553.918 |
K® —k®
8077579.5190 0 116369.2785 0

K 0 8077579.5190 116369.2785 —77579.5190
T 116369.2785 116369.2785  469107.8355 -116369.2785
0 —77579.5190 -116369.2785 77579.5190

0.00019829
~0.00012500

| ~0.00517079
0.02077118
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0.0001992
—0.0001250
—0.0050797
—0.0202445

A¢ = Kﬁ_lxpf =

1| FOPO|
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S U.u.s)_)to Aol cumglho sads sals ©l& o

Sgme Sl S 4o 5l aSul (6,8 b ol 48l ialS
A

@ ® SUSs s | baggiw 15 peizad 9 994 B byo

(v =0, fs=1)&.~ub ow)b) B0 34 (o

A,
]
E A, I, L

L
Y @ Y
UJSUMW)él@.Cle)AJ)JLO
3EI, 3EI, 3EI,
L>? N
o AE o o _AE
LC LC
0 0 0 0 0 0
Kcolumnl,zz _BESIC 0 O 35:(: O 35!(:
o _AE o o AE
LC LC
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[ 200000.00 0.00 0.00 -200000.00 0.00 0.00 ]
0.00 1224490 24489.80 0.00 -1224490 24489.80
KO 0.00 24489.80 68979.59 0.00 -24489.80 28979.59
—200000.00 0.00 0.00 200000.00 0.00 0.00
0.00 -12244.90 -24489.80 0.00 1224490 -24489.80
| 0.00 24489.80 28979.59 0.00 -24489.80 68979.59 |
[ 12244.90 0.00 -24489.80 -12244.90 0.00 —24489.80 |
0.00  200000.00 0.00 0.00 -200000.00 0.00
: ) —24489.80 0.00 68979.59  24489.80 0.00 28979.59
T xkxT =K =
—12244.90 0.00 24489.80 12244.90 0.00 24489.80
0.00 -200000.00 0.00 0.00 200000.00 0.00
| —24489.80 0.00 28979.59  24489.80 0.00 68979.59 |
i 0 -1000
i FS, = ";f @5 +b) 1000 0
— | gt |
,,J_,J,(H@ @ﬂ Yo o . 1000| 7y - 1000
T | S 0 ® " ]-1000
O PP 1000 0
—1000 —-1000
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L=4m Cos(#) =1 Sin(6) =0
10 0 0 0 O]
010000
(@_[000 1000
0 001O00
000010
00000 1]
200000 0 0 -200000 0 0]
0 15000 30000 0 -15000 30000
(O @ _ 0 30000 60000 0 -30000 60000
—200000 0 0 200000 0 0
0 -15000 -30000 0 15000 -30000
i 0 30000 60000 0 -30000 60000 |
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[ 12244.90 000 -24489.80  —12244.90 0.00 -24489.80 0.00 0.00 0.00
0.00 200000.00 0.00 0.00 —-200000.00 0.00 0.00 0.00 0.00
—24489.80 0.00 68979.59 24489.80 0.00 28979.59 0.00 0.00 0.00
—12244.90 0.00 24489.80 212244.90 0.00 24489.80  —200000.00 0.00 0.00
K = 0.00 —-200000.00 0.00 0.00 215000.00 30000.00 0.00 -15000.00 30000.00
—~24489.80 000 2897959  24489.80 3000000  128979.59 0.00 -30000.00  60000.00
0.00 0.00 0.00  -200000.00 0.00 0.00  200000.00 0.00 0.00
0.00 0.00 0.00 0.00 —-15000.00 —30000.00 0.00 15000.00  -30000.00
L 0.00 0.00 0.00 0.00 30000.00 60000.00 0.00  -30000.00 60000.00 |
o258 SBUS el ()3)0] awdy
—-1000 0
P' = 0 P, =40
—-1000 0
212244.898 0.000 24489.796
Ky = 0.000 215000.000 30000.000
| 24489.796  30000.000 128979.592
212244.898 0.000 24489.796] (1000 0.0038747 m
{Af}: 0.000 215000.000 30000.000| x 0+=4 —0.0010120 m
24489.796  30000.000 128979.592 1000 0.0072529 rad
HEFOV-U)
—1225.0660 202.4054
202.4054 1225.0660
FO _ 1305.0748 (0 _ 1305.0748
—774.9340 —202.4054
—202.4054 774.9340
—-404.8108 —404.8108
—774.9340 —774.9340
232.7662 232.7662
F0) _ 465.5324 (@) _ 465.5324
774.9340 774.9340
—232.7662 —232.7662
465.5324 465.5324
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¥4 Joint Displacements

File View Edit Format-Filter-Sort Select Options
Units: As Noted Joint Displacements w
Fiter:
Joint OutputCase CaseType u1 u2 u3 R1 R2 R3
Text Text cm cm cm Radians Radians Radians
4 — DEAD LinStatic . 0 . 0 0. 0- 0 0
2 DEAD LinStatic 1.504951 0 '] 0 0 0
3 DEAD LinStatic I 2257426 ‘ 0 0 I 0 - 0 0
4 DEAD LinStatic 0 0 '] 0 0 0
5 DEAD LinStatic ‘ 1.504951 ‘ 0 DI 0- 0 0
6 DEAD LinStatic 2257426 0 o 0 0 0
7 DEAD LinStatic h 0 - 0 0 h 0 - 0 0
8 DEAD LinStatic ' 1.504951 - 0 0' 0- 0 0
9 DEAD LinStatic h 2257426 - 0 0 h 0 - 0 0
Record: << < 1 > >> |of9 Add Tables... Done
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